
YL

$%675$.

0DLVDUDK�� �������������� 3HULODNX� 3HPLOLN� /DKDQ� GDODP� 0HPED\DU� =DNDW�
3HUWDQLDQ�GL�'HVD +DQGLO�*D\DP .DEXSDWHQ�7DQDK�/DXW��3HPELPELQJ +��$EGXO�
*DIXU��/F���0�$��6NULSVL��%DQMDUPDVLQ��8QLYHUVLWDV�,VODP�1HJHUL�$QWDVDUL�������

.DWD .XQFL� 3HULODNX� 3HPLOLN /DKDQ��=DNDW 3HUWDQLDQ

=DNDW�PHUXSDNDQ�VDODK�VDWX�LQVWUXPHQ�SHQWLQJ�GDODP�VLVWHP�HNRQRPL�,VODP�\DQJ�
EHUSHUDQ� GDODP� GLVWULEXVL� NHND\DDQ� GDQ� PHQFLSWDNDQ� NHDGLODQ� VRVLDO�� 'DODP�
NRQWHNV� ]DNDW� SHUWDQLDQ�� NHZDMLEDQ� LQL�PHQMDGL� UHOHYDQ� EDJL�PDV\DUDNDW� DJUDULV�
VHSHUWL� GL�'HVD�+DQGLO�*D\DP�� \DQJ�PD\RULWDV� SHQGXGXNQ\D�EHUSURIHVL� VHEDJDL�
SHWDQL��1DPXQ��SHODNVDQDDQ� ]DNDW�SHUWDQLDQ�GL� WLQJNDW�GHVD�PDVLK�PHQXQMXNNDQ�
NHUDJDPDQ�GDODP�SHPDKDPDQ��SUDNWLN��GDQ�PRWLYDVL�LQGLYLGX�SHPLOLN�ODKDQ�

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHPDKDPL� SHULODNX� SHPLOLN� ODKDQ� GDODP�
PHPED\DU ]DNDW SHUWDQLDQ GL 'HVD +DQGLO *D\DP� -HQLV SHQHOLWLDQ \DQJ GLJXQDNDQ�
DGDODK SHQHOLWLDQ NXDOLWDWLI GHQJDQ SHQGHNDWDQ IHQRPHQRORJLV� VHUWD PHQJJXQDNDQ�
NHUDQJND�7HRUL�3HULODNX�7HUHQFDQD��73%��XQWXN�PHQJLGHQWLILNDVL�GLPHQVL�VLNDS��
QRUPD VXEMHNWLI� GDQ NRQWURO SHULODNX \DQJ PHPHQJDUXKL NHSXWXVDQ PX]DNNL GDODP�
PHPED\DU�]DNDW�

'DWD�GLSHUROHK�PHODOXL�ZDZDQFDUD�PHQGDODP�GHQJDQ�EHEHUDSD� LQIRUPDQ�
GDQ� .HSDOD� 'HVD�� +DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� EDKZD� VHEDJLDQ� EHVDU� SHPLOLN�
ODKDQ PHPDKDPL NHZDMLEDQ ]DNDW SHUWDQLDQ� NKXVXVQ\D VDDW SDQHQ PHOHELKL QLVKDE�
\DQJ� VHFDUD� ORNDO� GLXNXU� GHQJDQ� VDWXDQ� ³EHOLN´� 0RWLYDVL� PHPED\DU� ]DNDW�
GRPLQDQ� EHUDVDO� GDUL� QLODL� UHOLJLXV� GDQ� GRURQJDQ� PRUDO�� \DQJ� GLSHUNXDW� ROHK�
OLQJNXQJDQ� VRVLDO� VHSHUWL� WRNRK� DJDPD�� 1DPXQ�� EHOXP� WHUVHGLDQ\D� VLVWHP�
SHQJHORODDQ� ]DNDW� \DQJ� WHUVWUXNWXU� GL� GHVD� PHQMDGL� NHQGDOD� GDODP� RSWLPDOLVDVL�
SRWHQVL�]DNDW�


